
Africa Twin Hugger 2016>    part # 071968 

Fitting Kit: 

2 X M6 x 16MM flange headed bolts CBOLM60008 
1 X M5 x 16MM flange headed bolt CBOLM50008 
2 X M6 Plastic Washer  CWASM60003 
1 X Cable Tie  CAB0200 
Includes decals on 071968 C, D & F 

Instructions: 

1. Remove the chainguard.

2. Unbolt and remove the rear-most brake hose mounting clip, as pictured below.

3. Feed hugger over the tyre and into position with the right hand mounting tab under the brake hoses and
loosely fit the M5 x 16MM flange headed bolt.

4. Attach cable tie around brake hoses, taking care not to over tighten.

5. Using the M6 x 16MM flange headed bolts and plastic washers provided, loosely fit the two chainguard
mountings.

6. Check the alignment of the hugger, then fully tighten all the way round.

7. BE SURE TO CHECK FIXINGS PERIODICALLY.


